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案: 一. 阅读部分 PART ONE 1. A 2. C 3. B 4. E 5. D 6. B 7. D

PART TWO 8. D 9. F 10. H 11. A 12. E PART THREE 13. C 14. B

15. A 16. F 17. G 18. A 19. F 20. B PART FOUR 21. B 22. B 23.A 24.

D 25. C 26.B 27.A 28. C 29.C 30. C 31. B 32.A 33. A 34. B 35.D

PART FIVE Section A 36. every是多余,应删掉. 37. that是多余,应

删掉. 38. 没有多余的词. 39. 没有多余的词. 40. up是多余,应删

掉. Section B 41. millions应改为million 42. fooding应改为food 43.

burnt应改为burn 44. leaving应改为left 45. using 应改为use 二.写

作部分 PART ONE Question 46 (Sample for reference) To : Ms.

Anne Folster, I have to delay my trip to Hawaii till July ,as Mr. Flton

Deland will arrive in London on 25th June and discuss the claim face

to face. Please arrange our meeting on 26th June. PART TWO

Question 47 (Sample for reference ) After careful survey, we can see

clearly from the chart that our cars have more models and colours

than those of Quaker Company, our main competitor with higher

quality. However, Quaker Companys income increases more

quickly. What is the reason? First , Quaker Company spends much

more money in advertising. I suggest we advertise on BTV, the most

popular broadcasting station nowadays. Secondly , we should

enlarge the scope of our after-sales service. We can open more

service stations in many medium-sized cities. Thirdly ,if we have

more money, We can hire more salesmen to sell cars directly to the



customes, especially, more salesmen in medium-sized cities. 100Test 
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